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Reasoning – Solutions (సమాధానాలు)  Set-4

 

S1.Ans. (a) 

Sol.  Alphabet is increased by 4 positions. 
D + 4 = H, H + 4 = L 
G + 4 = K, K + 4 = O 

 

S2.Ans. (b) 

Sol. except option (b), all follow the logic 
given below- 
First number × second number = 96 

 

S3.Ans. (d) 

Sol. ‘BADGE’ = 4281410 
B × 2 = 4 
A × 2 = 2 

D × 2 = 8 
G × 2 = 14 
E × 2 = 10 
In the same way, 
NORMS = 2830362638 
N × 2 = 28 
O × 2 = 30 
R × 2 = 36 
M × 2 = 26 
S × 2 = 38 

 

S4.Ans. (a) 

Sol.  There is 2 alternate series 
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S5.Ans. (c) 

Sol. 1st Column: 3 + 14 = 17 × 2 = 34  

2nd Column: 18 + 13 = 31 × 2 = 62  

3rd Column: 27 + 22 = 49 × 2 = 98 

 

S6.Ans. (d) 

Sol.  

 

As per the Venn diagram derived from the given 

statements it is clear that none of the conclusion 

follows. 

 

S7.Ans. (b) 

Sol. According to the following family chart 
Rohit is the son-in-law of Vijay. 
 

 

 
 
S8.Ans. (c) 

Sol.  
 
 
 

S9.Ans. (d) 

Sol. 

 
 

Y is to the immediate right of X. 
 
 
S10.Ans. (a) 

Sol. Members in the family are: - Mr. 
Gajanan + Mrs. Gajanan + Five girls + One 
boy = 8 

 

S11. Ans.(c) 
Sol.  

 
 
 
 
S12. Ans.(b) 
Sol. +3, +3 Pattern series  

 
 
S13. Ans.(c) 
Sol. They are not synonym.  
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S14. Ans.(c) 
Sol. MS-DOS is a non-graphical command line 

operating system derived from 86-DOS that was 

created for IBM compatible computers. 

 

 
S15. Ans.(d) 
Sol. Except EMI, all are methods of  quick 

transfer of funds.  

 

 
S16. Ans.(d) 
Sol. +5, +4, +3, +2, +1 Pattern series.  

 

 
S17. Ans.(b) 
Sol. P – Electrician – Friday 

Q – Plumber – Monday 

R – Cook – Thursday 

S – Doctor – Tuesday 

T – Carpenter – Wednesday  

 

 
S18. Ans.(d) 
Sol. S – Doctor – Tuesday 

 

 
S19. Ans.(a) 
Sol. Q – Plumber – Monday 

 

S20. Ans.(b) 
 

 

S21. Ans.(b) 

Sol.  

 

 

S22. Ans.(a) 

Sol.  

 

 

S23. Ans.(d) 

Sol. 72 = 3x + x 

x = 18 

 

S24. Ans.(d) 

Sol.  

 

S25. Ans.(a) 

Sol. 

  

 

S26. Ans.(d) 

Sol. –5, –3, –2, –1 

 

 

S27. Ans.(b) 

Sol. 27 triangles 

 

S28. Ans.(a) 

Sol. Sum of the digits in even and rest are odd. 
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S29. Ans.(c) 

Sol.  

 

S30. Ans.(c) 

Sol.  

 

Q is the grandson of W. 

 

S31. Ans.(b)  

Sol.   

 

 

 

 

S32. Ans.(b) 

Sol. Male Female  

Fox     Vixen  

Stag  Doe  

 

 

S33. Ans.(d) 

Sol.    

 

 

 

S34. Ans.(c) 

Sol. –3 series  

 

 

 

S35. Ans.(c) 

Sol.         

       

 

S36. Ans.(a) 

Sol.           

          

 

 

S37. Ans.(b) 

Sol. 

Pacific is an ocean 

Nile is a river. 

 

S38. Ans.(d) 

Sol. 

Inch, Decimeter, Foot, meter 

 

 

S39. Ans.(c) 

Sol. 

2 × 1 + 1 = 3  

3 × 2 + 2 = 8  

8 × 3 + 3 = 27  

27 × 4 + 4 = 112 

  

 

S40. Ans.(b) 

Sol. 

3 × 4 + 5 = 17  

17 × 4 + 5 = 73 

73 × 4 + 5 = 297  

297 × 4 + 5 = 1193  

 

S41.Ans.(b) 

Sol. 
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S42.Ans.(a) 

Sol. 

66 – 56 = 10 

101 – 90 =11 

41 – 30 = 11 

33 – 22 = 11 

  

 

S43.Ans.(b) 

Sol. 

The difference between digits are + 12, + 20, + 28, 

+ 36, + 44, so missing term is 99 + 44 = 143. 

 

 

 

S44.Ans.(a) 

Sol. 

 
 

 

 

S45.Ans. (d) 

Sol.  

(18 ÷ 6) × 12 = 36 

 

 

 

S46.Ans.(b) 

Sol. 

Meaningful order of words. 

1. Foundation  3. Building 2. Plastering 4. Painting 

 

 

 

S47.Ans.(a) 

Sol. 

From the figure (1), (2) and (3) it is clear that 

numbers adjacent to 6 are 2, 3, 4, 5. Hence number 

1 will be opposite to number 6. 

 

 

 

S48.Ans.(b) 

Sol. 

 
 

 

S49.Ans.(b) 

Sol. 

 
 

 

 

S50.Ans.(d) 

Sol.My grandfather’s Only son-father, or uncle. If 

man is the son of father, the woman becomes 

sister. But if he is uncle, she becomes cousin. 
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